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Instructions for the candidates -

1.
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Candidate must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

oRleTTeff ALY 37U TRl H T IR G |

Candidates are required to give answers in their own words as far
as practicable.

qIfe AR BIRR R Q¥ 8¢ s Yuries fAfase &vd 2 |

Figures in the right hand margin indicate full marks.
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15 minutes of extra time has been allotted for the candidates to

read the questions carefully.
U U UA T WSl H B, U3 U9 WUe—9 |
This question booklet is divided into two sections - Section-A and

Section-B.
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In Section-A, there are 80 objective type questions, out of which
any 40 questions are to be answered. Each question carries 1
mark. If a candidate answers more than 40 questions, then
answers of first 40 questions will be evaluated only. For answering
these, darken the circle with blue/black ball pen against the correct
option on OMR Answer Sheet provided to you. Do not use
Whitener/liquid/blade/nail etc. on OMR Answer Sheet, otherwise

the result will be treated invalid.
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78 9 2 g A I &, 2 U9 YORA A & Ud 2 U o9

fasm & g 9fde I"T & Tde Y S U & v 6 3fh, YR



IR U9 o9 s & forw 55 ofe fiRa 21 e fawg (Hifas
I, I A T4 Siig fdgi™) 3 U6—U& Ued & IR AT Af+ard
=

In Section-B, there are 24 short answer type questions. Out of
these, eight questions are from Physics, eight questions are from
Chemistry and eight are from Biology. Four questions are to be
answered from each subject (Physics, Chemistry and Biology).
Each question carries 2 marks. Apart from these, there are 6 Long
Answer type questions, two questions each from Physics,
Chemistry and Biology. Long Answer Type questions from Physics
carries 6 marks each, and from Chemistry and Biology carries 5
marks each. Answer of one question each from Physics,
Chemistry and Biology is compulsory.

Pl PR & Selagi=d IUSHIOT & FANT Yoiaar afsid ¢ |

Use of any electronic appliances is strictly prohibited.

Hus—3d / Section A
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famea a1 OMR 3fic ®R fafed w1 | 40 X 1 = 40

Questions Nos. 1 to 80 are of objective type. Answer any 40 questions. Each

question has four options, out of which only one is correct. You have to mark

your selected option on the OMR sheet. 40 x 1 =40
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fifa @ T smaddie s g ?

(A) a1 (B) ERT

(C) =frem (D) STt

Which of the following has maximum refractive index ?
(A) Air (B) Diamond

(C) Glass (D) Water

3fadet U B BIhA—g BT & —

(A) FUTHD (SERISED

(C) T (D) &1 FUMcHD, B4l I-THD
The focal length of a concave mirror is —

(A) Negative

(B) Positive

(C) Zero

(D) Sometimes negative, sometimes positive

fell of # &7 hied &1 w1 fdha+ sl 2 ?
(A)1 (B) 2

(C)3 (D) 4

What is the number of principal focus in a lens ?
(A) 1 (B) 2

(C)3 (D) 4

QIS G H BIF—HT FUUT YUY BT & ?



(A) STe (B) sraqet

(C) et (D) 74 & ®Ig Tl
Which mirror is suitable for shaving ?

(A) Convex (B) Concave

(C) plane (D) None of these

AT TUT B BIhd g3l (F) vd I9@! ashdl o1 (R) & 99 =+ § —
(A)F =R (B) F=2R

(C) F== (D) F = 4R

The relation between focal length (F) and radius of curvature (R) of a
concave mirror is -

(A)F=R (B)F=2R

(C) F== (D) F = 4R

frforRad # {59 o & AMERI o9 ded © ?

(A) 3T o (B) ST @i

(C) ST <19 U4 adel o &l (D) SIShidd o
Which of the following lens is called converging lens ?
(A) Concave lens

(B) Convex lens

(C) both convex lens and concave lens

(D) Bifocal lens

39 garer # e aul &1 a¥Teed REaH ghar § 2
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10.

(A) dren (B) &r+h

(C) ofref (D) &1

Which colour has minimum wavelength in visible light ?
(A) Yellow (B) Violet

(C) Red (D) Green

IRl &1 feAfEHM, Udbrer & | g1 &I gelar g ?

(A) UHTT BT faeroo (B) UHTIeT BT URIICH

(C) UHBTeT BT Y10 (D) UHTeT BT a1

The twinkling of stars represents which phenomenon of light ?

(A) deflection of light (B) reflection of light

(C) scattering of light (D) refraction of light

ffaRad # foed gerer @) =ora w99 e 81t § 2

(A) arg (B) @fa #

(C) frafa (D) (A) 3R (B) 2 #
In which of the following, the speed of light is maximum ?
(A) in air (B) in glass

(C) in vacuum (D) both (A) and (B)

b1 & 3qaa & foa- fFm & ?

(A) 1 (B) 2
(©)3 (D) 4

How many laws of refraction of light are there ?



11.

12.

13.

(A) 1 (B) 2

(C)s (D) 4

S faea §97 5 ol @1 fAEd $oi # wuidRa wxar § 2
(A) @ St (B) ¥R Suif
(C) Rerferst gt (D) ardry it

Which energy is converted by a hydroelectric plant into electrical

energy ?
(A) Nuclear energy (B) Solar energy
(C) potential energy (D) Thermal energy

STl B3 HIHeR daeidl & —

(A) fIgd BT DI YHI Holl A (B) ITI® $oll Bl YBTI SHoll |
(C) &afs St BT YT Sroll & (D) g7 &g el

The burning Candle changes -

(A) electrical energy into light energy.

(B) chemical energy into light energy.

(C) sound energy into light energy

(D) none of these

T fIgd A W gR—UTG &R1 R §9b RRI & 919 fA9aiar &1 /9 faggd

AqED qel D T | BT Ol & —
(A) 3Tl (B) ®H
(C) g (D) §7# P1E e



14.

15.

16.

The potential difference across an electric cell upon drawing current

becomes -
(A) more than emf (B) less than emf
(C) double the emf (D) none of these

ORI &1 719 9e™ & oI UfeRIdT &l Sirel ST arfey —

(A) \HIOR A H (B) Srofter 3

(C) (A) T (B) # (D) 377% & @IS &

To increase the value of the resistance, resistors should be connected-
(A) in parallel (B) in series

(C) in both (A) and (B) (D) None of these

faed ge a9 & forg ur: 579 B &1 STANT 81T €, 98 & —

(A) difar (B) =¥ irel

(C) gurd (D) 4 ®Ig &l

The rod, which is generally used to make electromagnet is -
(A) Copper (B) Soft iron

(C) Steel (D) none of these

IR AU R DHHA—AT Ulhar g1 &I Il § 2

(A) TR fawe (B) -f¥ehIa WHerr
(C) < (A) Td (B) (D) &7 & BIg el
Which process is done at higher temperature ?

(A) nuclear fission (B) nuclear fussion



(C) both (A) and (B) (D) none of these
17. AR ol & g fdggd d gga arell gfad & —
(A) IR B (B) R ¥
(C) =T (A) 3Tk (B) (D) 379 & @15 el
A device that converts solar energy directly into electricity is -
(A) Solar cooker (B) Solar cell
(C) Both (A) and (B) (D) none of these
18. Yo fagd S H 9a9 @ a1d HHA—A—HH -l g ey ?
(A) 150 km/h (B) 1.5 km/h
(C) 12-14 km/h (D) 9 A PIg F2I
What should be the minimum speed of wind in a wind electric
generator ?
(A) 150 km/h (B) 1.5 km/h
(C) 12-14 km/h (D) None of these
19. 9o & fIgd—ars® 9o © —

(A) T §RT SHTS 3MAY WX T AT 9

(B) 9T RT S&TS 3MAY WR fHar a1 &R
(C) foratar

(D) 57 & P1g T

Electromotive force of a cell is -

(A) the force exerted by the cell on unit charge



20.

21.

22.

(B) the work done by the cell on unit charge

(C) potential difference

(D) none of these

Rl URYeT § 450 w9 9§ fhas! myfed 8rit § 7

(A) STt e T (B) = e aT @
(C) fase a=r (D) 378 | BIg T2

Which current is mainly used in domestic circuit ?

(A) alternating current (B) variable direct current
(C) direct current (D) none of these
qui—f3graor oriva & —

(A) a3 (B) frafer #

(C) Ster (D) wrgeR #

Dispersion is impossible in -

(A) glass (B) vacuum

(C) water (D) fibre

g ¥ @ U Bra &1 oA smufad faRer a1 Aie <ar ® -
(A) SR (B) ==t

(C) 3R & R (D) 3R & 3R

A glass prism placed in air bends an incident ray -

(A) upward (B) downwards

(C) away from the base (D) towards the base

10



23.

24.

25.

26.

2Zn + O, > 2Zn0 &9 YbR &1 AWfhar g ?

(A) 3qee (B) fazermu=

(C) sraerdor (D) Su=

2Zn + O, > 2Zn0 is which type of reaction ?

(A) Decomposition (B) Displacement

(C) Precipitation (D) Oxidation

G qTell ArST &1 IS G T & 2

(A) NaHCO3; (B) NH,CI

(C) Na:COs (D) &7 & ®1g &
What is the chemical formula of baking soda ?

(A) NaHCO; (B) NH4CI

(C) Na,CO, (D) none of these
FHE B AT WG9 AT H IS-Iarell o1 8 —

(A) dfar (B) 9T

(C) difsTm (D) @raT

The metal which remains in liquid state at room temperature is -
(A) copper (B) mercury

(C) sodium (D) iron

3 ARV & YT HHE Pl dcd DI © 7
(A)H (B) He

(C)O (D)CI

11



27.

28.

29.

The element of zero group of Periodic Table is -

(A)H (B) He

(C)O (D)CI

AISTH BEFE & STl f[aeras H Afd 3RS &1 faeas e W faera=
BT T uRafid gldr FefeiRad | Sdr 8 Sirar 2 ?

(A) drer (B) emret

(C) Terrd (D) &

On adding methyl orange solution to the aqueous solution of sodium
carbonate, the colour of the solution changes to which of the following?
(A) Yellow (B) Red

(C) Pink (D) Green

Tolget AT @ forg SoRer 9 f=faRed § o9 @ 2

(A) NH; (B) CO,

(C) O2 (D) N2

Which of the following gases is responsible for global warming ?
(A) NH3 (B) CO,

(C) O2 (D) N2

e 1 URATY] FEAT T § 2

(A) 2 (B)4

(C)8 (D) 16

What is the atomic number of sulphur ?

12



30.

31.

32.

(A) 2 (B) 4

(C)8 (D) 16
3 DI STl faerae faga &1 Farel= ordl &, difd 3l ool H —
(B) smufad Bram & (B) 31fdera grar &
(C) faerg &ram 2 (D) T & @I 7S}

The aqueous solution of an acid conducts electricity, because in water

acids are -
(A) ionized (B) insoluble

(C) soluble (D) none of these
TR el @ sifawrgs 8l § —

(A) & (B) st

(C) SeriF (D) &7 & BIg el

The oxides of metals are generally -

(A) alkaline (B) acidic

(C) neutral (D) none of these

A ffeRad # ST o1q feirer fserg GaR &1 SR § 2
(A) Cu (B) Zn

(C)K (D) Fe

Which of the following metals is mixed with gold to form an alloy ?
(A) Cu (B) Zn

(C)K (D) Fe

13



33.  NaCl + AgNO; > AgCN + NaNO; fF=ferRaa # fba usR @ arfafsear 27
(A) fa=zermu= (B) 2o
(C) fefazermu (D) fariom

NaCl + AgNO; > AgCH + NaNO; is which of the following types of

reaction ?

(A) Displacement (B) Combination

(C) Double displacement (D) Dissociation
3. fade g —

(A) T oIy (B) T &g

(C) & Suerg (D) 374 & @I Tl

Silicon is a -

(A) nonmetal (B) metal

(C) metalloid (D) none of these

35, J d@ e a8 ¥ gof W B 8, F8ad § —
(A) HspHIT T (B) Efrora
(C) &y T emg (D) See
Elements whose outer shell is completely filled are known as —
(A) transition elements (B) Halogens

(C) alkaline earth metals (D) Noble gases
3. WA B IAAS T & —

(A) Ca(HCO5), (B) CaOCl

14



37.

38.

39.

(C) CaCl, (D) CaCO;,
The chemical formula of chalk is —

(A) Ca(HCO3), (B) CaOCl
(C) CaCl, (D) CaCO,
fF=ifa 5 i JaY 31fdd vl sifedrgs © ?
(A) SO (B) CaO

(C) Na,O (D) MgO
Which of the following is the most acidic oxide ?
(A) SO (B) CaO

(C) Na,0O (D) MgO
fereiferiad # @i Vebrg & ?

(A) CH,4 (B) C2Hs4

(C) CoH; (D) C2He
Which of the following is an alkyne ?

(A) CH, (B) C2Hs4

(C) CoH; (D) C2He
CH3-O-C,Hs @1 IUPAC M & —

(A) HITaRTT T (B) Tferet #fret geR
(C) veifer #e (D) ==
The IUPAC name of CH;-O-C5H5 is -

(A) methoxy ethane (B) ethyl methyl ether

15



40.

41.

42.

(C) ethoxy methane (D) propanone

=1 % & B AT U9 & /Y H SR [HAT T Gl © 2

(A) Hofer (B) Vrgen 3t

(C) Tt (D) 5T &

Which of the following compounds can be used as fuel ?

(A) propanol (B) ethanoic acid

(C) ethanol (D) all of these

AT gesiaass Nie | ifafhar axe A=Iifed ¥ d9—a1 Sdre 47l
87

(A) NaZnO, + H, (B) NayZnO, + H,
(C) NaZn,+H, (D) Na,ZnO+H,
Which of the following products are formed when sodium hydroxide
reacts with zinc ?

(A) NaZnO, + H, (B) NaxZnO, + H,
(C) NaZn,+H, (D) Na,ZnO+H,
NI AT & IS GF T & 2

(A) Na,C0O3.10H,0 (B) NaHCO;

(C) CaCOs; (D) Ca(OH),
What is the chemical formula of washing soda ?

(A) Na,C0O3.10H,0 (B) NaHCO;

(C) CaCO; (D) Ca(OH).

16



43.

44.

45.

46.

3FeRTST W A8 HNO3 3R |7 HCI &7 ouTd 8iaT 2 —
(A)1:3 (B)3:1

(C)2:2 (D)2 :3

The ratio of conc. HNO3 and conc. HCI in aqua regia is -
(A)1:3 (B)3 : 1

(C)2:2 (D)2 :3

fo=fy arfffosar & 9T o9 arel gt wEed € —

(A) ST (B) 31ApR®

(C) dTeRiTpRSD (D) 3rabRD

The substances that takes part in a reaction are called -
(A) product (B) reactant

(C) oxidizing agent (D) reducing agent
fFrefaRad 3 19 iy sifaarss & ?

(A) CuO (B) MgO

(C) CaO (D) SO,

Which of the following is an acidic oxide ?

(A) CuO (B) MgO

(C) CaO (D) SO,

FefeiRad 19 A1 ugred &1 Selid "l ol foredd o &l el &R <l
g7

(A) st (B) &

17



47.

48.

49.

(C) 3=t Td &R I (D) T4 ¥ IS 8l
An aqueous solution of which of the following substance turns blue
litmus into red ?

(A) acid (B) base

(C) Both acid and base (D) none of these
TR YRR BT AT pH A fha=r g ?

(A) 5-7 (B) 2-3
(C)7.0-7.8 (D) 9.0-9.5

What is the normal pH value of a healthy body ?

(A) 5-7 (B) 2-3
(C)7.0-7.8 (D) 9.0-9.5
fFe=ifea Il § o9 St 9 faeig 2 ?

(A) BTEA STSACHIZS (B) &5t

(C) o1 (D) eIt

Which of the following compounds is soluble in water ?
(A) Carbon disulphide (B) Benzene

(C) Methane (D) Glucose

o LN

frifehd # I 3 TH © 2

(A) Cu-Sn (B) Na-Hg
(C) Cu-Zn (D) Pb-Sn

Which of the following is amalgam ?

18



50.

51.

52.

(A) Cu-Sn (B) Na-Hg

(C) Cu-Zn (D) Pb-Sn

Freifed § dH-A1 arg e dobe @ o A i o1 favenfig o
Hepell & 7

(A) Trgef A (B) wifeH

(C) DI (D) sregfafram

Which of the following metals can displace zinc from zinc sulphate
solution ?

(A) Titanium (B) Platinum

(C) Copper (D) Aluminium

TP 9 BT e 9§ IRR & A= 911 d & ST arell a2 =t

HEAT & —
(A) fre (B) 1Y
(C) anfeia (D) smfat

Blood vessels which carry oxygenated blood from the heart to different
body parts are called —

(A) ventricle (B) veins

(C) auricle (D) arteries

G0 @ ged Uil T & fufey ga @ ded € —

(A) forrm (B) ¥k#

(C) wefrorHT (D) s & @I 7Tl

19



53.

54.

55.

The light yellow-coloured sticky substance in the blood is called —
(A) lymph (B) serum
(C) plasma (D) none of these

fore dielf @ aferal W= EMTeT suRed B § ?

(A) SIRTBTSCH (B) STeTH™ A BISsIhlscH

(C) dfSrareaH (D) s & BIg e

On the leaves of which type of plants is the stomata absent ?
(A) Xerophytes (B) Submerged Hydrophytes
(C) Angiosperm (D) None of these

fopuaur fohar ot T ® —
(A) I< # (B) BIgST #
(C) aritar (D) T ¥ B1E TE

Fermentation process is found in -

(A) Yeast (B) Hydra
(C) Amoeba (D) None of these

qul fImRId ISR HEardl & —

(A) drsT (B) wet

(C) dsrs (D) 774 3 ®¢
A fully matured ovary is called —

(A) seed (B) fruit

(C) ovule (D) none of these

20



56.

57.

58.

59.

DI BT RN G & —

(A) C12H22014 (B) CsH1206
(C) CH;COOCH (D) CH;CHO
The chemical formula of glucose is -

(A) C12H22044 (B) CsH1206
(C) CH;COCH (D) CH;CHO
fermforRaa # forer W @1 ypTervRerdT 3@1E wed € ?
(A) FTARTARE (B) wiiies
(GESINIEE (D) Fatera™

Which among the following is called the photosynthetic unit of plant ?

(A) Chloroplast (B) Plastid

(C) Chlorophyll (D) Quantasome
SIS BT BRI & —

(A) estrogen (B) LH

(C) FSH (D) s & @I -7l
The cause of ovulation is -

(A) estrogen (B) LH

(C) FSH (D) none of these

f=ferRad Shral & fead ereifiies o9+ fgvdsd gRT =8l g1 & ?
(A) T (B)ﬁ?‘ﬂﬁﬁl’&ﬁ
(C) dre (D) ardiar

21



60.

61.

62.

In which of the following organisms asexual reproduction does not

occur through binary fission ?

(A) Leishmania (B) Paramecium
(C) Yeast (D) Amoeba

Ui H SifaRAISTT BT Aol & 947 I8dT § 2

(A) FaoTd fohar grRT (B) UhTI HIAYIT gRI
(C) 3mueed g1 (D) 379 9 ®Ig 8l
How is the balance of oxygen maintained in nature ?

(A) by combination reaction (B) by photosynthesis

(C) by decomposition (D) none of these

Ao & gt # f=ferlRad # foa @ @ qfAer g g 2

(A) U < (B) 3FR 34

(C) a1 (D) ST & &+

Which of the following juices play a role in the digestion of food ?
(A) bile juice (B) pancreatic juice

(C) intestinal juice (D) all of these

fefees e ToTgH urr Srer 8 —

(A) forererar (B) ar=rerd <& #
OEERSE: (D) S8R = |

Trypsin enzyme is found in -

(A) gallbladder (B) pancreatic juice

22



63.

64.

65.

66.

(C) intestinal juice (D) gastric juice

JMER AT BT AIH o dl 91T & —

(A) ==t (B) BT aifa

(C) 3mHIEr™ (D) Urtd el

The longest part of the alimentary canal is —

(A) pharynx (B) small intestine

(C) stomach (D) oesophagus

I # ure fhar &1 STRY FHEl | BT © ?

(A) T 9 (B) IET |

(C) s & (D) B¢ 3ifa &
Where does the process of digestion begin in humans ?
(A) pharynx (B) buccal cavity

(C) stomach (D) small intestine

ON ON (N

frforRad & i 99T & U+ § 9P aidl & °

(A) T8l (B) <Irgut
(C) Arees (D) daes

Which of the following helps in digestion of fats ?

(A) ptyalin (B) lipase
(C) maltase (D) lactase
TATG DI @1 ufohar |u~ 81t & —

(A) sp | (B) PIlR@TE H

23



67.

68.

69.

(C) wrggTaiofgar # (D) ¥ #

The process of glycolysis takes place in —

(A) nucleus (B) cytoplasm
(C) mitochondria (D) stomata

3 IR & —

(A) BT-TR® (B) S=a @19 WR el
(C) emerit (D) &7 & BIg el

Ozone layer is —
(A) Harmful (B) Beneficial at high temperature
(C) Benéeficial (D) None of these

ON ON (N

fFforRad # &9 el § =R Uoi= 37 & ?
(A) g (B) <eta=
(C) gearsi (D) 377 ¥ @IS &

Which of the following is the male reproductive organ in a flower ?
(A) Anther (B) Petal

(C) Thalamus (D) None of these

aregl # vaee fohar & srvia ATP & e 9 foha- Soif Haa 2l 2 2

(A) 30.5 kj/mol (B) 305 kj/mol
(C) 3.5 kj/mol (D) 374 | ®Ig =8I

How much energy is released by the breakdown of ATP during

respiration in plants ?

24



70.

71.

72.

(A) 30.5 kj/mol

(C) 3.5 kj/mol

(B) 305 kj/mol

(D) none of these

SATS Vobled T UHR & Ia99 I §9dT & 2

(A) T
(C) fpuam

(B) 3rargdra
(D) 375 & PIg e

Ethyl alcohol is made from which type of respiration ?

(A) aerobic

(C) fermentation

I H SURT I T HiOTRIT Iad- 9 & gRded & 91T ol 27

(A) ST Iad BIOTHTY

(C) (A) T2 (B) =TT

Which granules present in the blood take part in the transport of

respiratory gases ?

(A) Red blood cells

(C) Both (A) and (B)

Uy YRR ST BT & —

(A) ufrar 4

(C) ®IRrara Rfddeprall #

Plant wastages are stored in —
(A) leaf

(C) cellular vacuoles

25

(B) anaerobic

(D) None of these

(B) Tad ad HIVIHIY

(D) 379 & Bl el

(B) White blood cells

(D) None of these

(B) BTt #

(D) 9 9+ #

(B) bark

(D) all of these



73.

74.

75.

76.

AT 1 MER—ATA BT PHIA—AT 9NT BT Taarsd &I Afdd &1 FRam g ?
(A) T8 (B) o el
(C) rrmRrg (D) s & @I -7l

Which part of the alimentary canal of man does not secrete any

enzyme ?
(A) mouth (B) oesophagus
(C) stomach (D) none of these

T D] FigdT fhgdl IuRART R AR &=ell 2 2

(A) emarifeT (B) ADH

(C) wHURY (D) HeATSIH

Concentration of urine depends upon the presence of whom ?
(A) Thyroxin (B) ADH

(C) Vasopressin (D) Melatonin

(A) STTfaST (B) Raveli=

(C) \rgcIdrEg=i (D) vatfre s
Which hormone is not associated with growth of plant ?
(A) Auxins (B) Gibberellins

(C) Cytokinins (D) Abscisic Acid

A9 g fbg dFf &1 91T 8 ?

(A) Tras (B) 3q9+T o
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77.

78.

79.

(C) S=Iui= a4 (D) uRazg a=

The human heart is a part of which system ?

(A) digestive system (B) respiratory system

(C) excretory system (D) circulatory system

Sitg fa=i= @1 98 ImEr S ol @GR & Seddd | Hetd § —
(A) PIRET s (B) srgafrast

(C) it faerar (D) &7 & BIg el

The branch of biology that deals with the study of inheritance of
character is -

(A) Cytology (B) Genetics

(C) Evolution (D) None of these

vaad fohar § fifed & 9 fw 319 &1 9897 fhar Siran & 2

(A) CO, (B) O

(C) N, (D) SO,

Which of the following gas is taken in during respiration ?

(A) CO, (B) O

(C) N, (D) SO

@ISt # BT @ fas oA Bl § ?
(A) 4 (B)6
(C)8 (D) 12

How many Carbon atoms are in glucose ?
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(A) 4 (B) 6

(C) 8 (D) 12

80. ARCSp H sFifted fhamsil &1 FRIF0 d=s s/@Rer 811 & —
(A) g § (B) srraRass #
(C) wemRass ¥ (D) yeamRass ¥

In the brain the control center for involuntary action is located —
(A) in medulla (B) in forebrain
(C) in midbrain (D) in hindbrain

Yues—9 (Section-B)

Hifad®s = (Physics)

oY 3T 93 (Short Answer Type Questions)

TS GGT 1 ¥ 8 Tb oY SR © | 599 A gl 4 Ul BT IR § | YD U b
ford 2 s FEiRa 2 | (4x2=8)
Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions. Each

question carries 2 marks. (4x2=8)

1, JIDII &3 @RI & gl a1 ol dI ford | 2
Write down any two properties of magnetic lines of force ?

2. IRIN |95 T & 7 2
What is a biogas plant ?

3. AW & g9 | PIF—IIRM eR Wl & ? IR I | 2
Which quantity remains constant in Ohm’s law ? Explain.
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4. IRIATT J@Ivid T o TS R JeR R &l & 2 2
How does scattering in air depend upon wavelength ?

5, G B ATHGT &THdT I T dread © 2 2

What do you mean by power of accommodation of the eye ?

6. f 9T @& oruddid B URWING BT | STPHT §hls T 8 7 2
Define refraction index of a medium. What is its unit ?
7. g drelf @ AT § el TRt &1 forRav | 2

Write the problems faced in the construction of big dams.

8. T 31U 3ER AT THTI &I A3 BT fbd bR AT drar 8 2 2

How does the eye control the amount of light entering it ?

e Sa9g 939 (Long Answer Type Questions)
9T Ge&7 9 3R 10 N TR 21 g8 9 fhdl U &l SR | Udd U &b folw
6 3 AYURT B | 1Xx6=6

Question Nos. 9 and 10 are Long Answer Type. Answer any one of them.

Each question carries 6 marks. 1x6=06

) Jqd] GRT U9 s ORT | 3 T FHSI & ¢ S8 3N WE W | 6
What do you understand by alternating current and direct current ?

Differentiate between them.

10.  I@dd TUU B BIed & Fdre @ a Ay &1 9o o | 6

Describe a method for determination of focal length of a concave

mirror.
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I I (Chemistry)

oY SI 939 (Short Answer Type Questions)

U AT 11 9§ 18 T oY SIRIY & | 379 I (b8l 4 Ul BT IR < | AP U

& fory 2 ofe iR §) (4x2=8)

Question nos. 11 to 18 are Short Answer Type. Answer any 4 questions.

Each question carries 2 marks. (4x2=8)

11.

12.

13.

IYILHT uaref fd ded 8 ? WIKTERV AT N | 2
What are amphoteric substances ? Explain with examples.
fr=ifore siffdharetl & forg dgferad RIS FHIaHRT ford | 2
(A) Sia(s) + HeRIRS sFci(aq) > Rfd Febe(aq) + BTERIOT(G)
(B) IRIA FARISS(aq) + FHRIRE 3F(aq) —> dIRIA Fehe(s) +
BIESIaciRG 3fFi(aq)
Write balanced chemical equations for the following reactions -

(i) zinc(s) + Sulphuric acid(aq) = zinc sulphate(aq) + Hydrogen(g)

(i) Barium chloride(aq) + Sulphuric acid(aq) - Barium Sulphate(s) +

Hydrochloric acid (aq)
S Bl AR Hobe o # Se= 9 &7 8idr & 2 3ifdfhar &1

NI FHThRoT fored | 2

What happens when zinc is added to ferrous sulphate solution ?

Write chemical equation for the reaction.
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14, HeIRU 9T & ? AlQrexel FHe | 2
What is corrosion ? Explain with example.

15. INTE G F IR R T g9 gedl § 7 2

What effects are caused on body after drinking alcohol ?

16.  SUATSIDI o AT BT W= Faf o form g ? 2

Why have detergents replaced soap?
17. e Afe & Tadie Yd qaudie S 8l & | @ ? 2
lonic compounds have high melting and boiling points. Why?

18. BRI fAgId &1 FaTeld sIdT &, fbg dwIse garddd | i ? 2

Diamond is a bad conductor of electricity, but graphite is a good

conductor. Why?

e Sa9a 939 (Long Answer Type Questions)
9T G 19 R 20 <1 IR & 599 O Al U BT SR < | U”b U B
foru 5 3fe MEiRT B | 1x5=5

Question Nos. 19 and 20 are long answer type. Answer any one of them.

Each question carries 5 marks.

19. fereifere AIfTepl b1 =T 3 ford — 5
(A) STHTITYA (B)uusal  (C)gadst (D) & (E) 9dI=
Write structural formula of the following compounds -
(A) Bromopropane (B) Propanal (C) Hexane

(D) Benzene (E) Propene

20.  ThsErg fPY w8d € ? $HG & IQERVT § | WU B A SUANT B
oI N | 5
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What is an alloy ? Give two examples. Discuss three uses of

alloys.

Siild fasim= (Biology)

oY 3T 93 (Short Answer Type Questions)

U AT 21 9§ 28 T Y SIRIY & | 379 I (b8l 4 Ul BT IR < | AP U

& forg 2 sf FEiRa 2| 4x2=8

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions.

Each question carries 2 marks. 4x2=8

21.

22.

23.

24.

25.

26.

YHTIRITATYT UfehaT FARTERE H &1 i 8l & ? 2
Why does the process of photosynthesis take place only in

chloroplast ?

deT I & Bl dl Fd | 2

Describe the function of the nervous system.

gfcrat fopar o 8 2 2
What is reflex action ?

DNA 3 afedr & R 2, &4 ? 2
DNA is the basis of heredity, How ?

g9 3R T84 H PIs T 3fax ford | 2

Write any two differences between respiration and combustion.

TS hIS R & 31T T IH31d & ° 2
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What do you understand by glycolysis ?

27.  f&=El IR ey g &1 74 ford | 2
Name any four plant hormones.

28.  f=ifhd & goi w9 ford | 2
(i) lUCD (i) OC
Write the full form of following.
(i) lUCD (i) OC

e Sa9g 939 (Long Answer Type Questions)
9 AT 29 IR 30 3 STNY 2] 394 I fhdl Uh BT TR T | TS U B
foTe 5 3fe fAgiRa 2 1x5=5

Question Nos. 29 and 30 are Long Answer Type. Answer any one of them.

Each question carries 5 marks. 1x5=5
29.  UBTIHLAYT BT URHINT & | UHTIRILATOT UshH BT HE H q0i N |
Define photosynthesis. Explain the process of photosynthesis in
brief.
30.  HAIS H urad AT @I U 9F & AMifhd R & |1l JHsiey |
Explain the process of digestion in humans with a labelled diagram

of the digestive system.
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